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5. One Machine Cycle includes which of the following stages?

A, Fetch Instruction B, Coding
C. Decoding D.  Fetch Operand

6. A 1024 x 768 display can show true color, that is, 8-bit needed for each of the
three primary colors. How many video RAM does it need?

A 23MB B. 0.77MB
C. 1.2MB D. 3.07MB
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7. Adigital camera is NOT likely to use which device to store pictures

A, DRAM B. Flash RAM
C. Hard Disk D. CD-R

8. Assume a line has baud rate of b, and the line may carry voltage values of 0, 1, 2,
3,4, 5, 6,and 7. The transmitting rate of the line (bits/sec) is

A b B. 3b
C. 2b D. 8b
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a. Floppy bBHD  c¢RAM d.CDROM  c.Regster

A, echda B. edcha
ecdba D. echad
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13. Consider the operation of a CPU. Suppose there are 5 stages for an instruction to

be executed. Each stage takes 2 nanoseconds. With the existence of one 5-stage
Pipeline, what is the actual rate of processing

A. 5000 MIPS B. 1000 MIPS
C. 500 MIPS D, 100 MIPS

14. Which statements are true?
(A) In reading data from a hard disk, the rotational delay comes before seck
time
{B) RAID is a concept of using several small disk packs that work together as a
unit
{C) Batch processing is not suitable for a monthly payroll printout
{2 Hashing is not suitable for locating records sequentially

15. Which statements are correct?
{A) File Servers can be used to deliver an entire file to a user node.
{B) A silicon chip is called an organic chip.
{C) Two dissimilar networks need to be connected by a gateway.
{D) Data and instructions are put into primary storage by the control unit.
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1. Given an [P address: 140.130.120.110 with subnet mask of 255.255.255.0,
(a) what is the host [D:
(b) what is the network [D

2. What is Moore’s Law (proposed by Gordon Moore)?

3. What are the advantages you gain when perform Normalization procedures in
order to conform to 1NF? to 2NF? And to 3NF?
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4. What is UDDI ? What is SOAP?

5. The visual field of the human eye consists of about 10° pixels. Each pixel can be
reduced to a superposition of the three primary colors, each of which has 64
intensities. The time resolution is 100 millisec. Compute the data rate of the
human cye.

6. How many bits does ASCI! code use? & L 482584 » 4o P o5 E-T 8 » 8£F
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7. In a local area network, each packet transmitted on network causes an interrupt on
the bridge, which connects two LANSs, Suppose it takes 250 psec per packet to
handle the interrupt and inspect the packet, But when forwarding is needed, it is
done by DMA hardware. 1f all packets are 1K bytes, what is the maximum data
rate on each of the networks that can be tolerated without having the bridge lose
packets?

8. To allocate free space on the hard disk for a file, the operating system must keep
track of which blocks are available, and which are already in use storing other
files. Please specify two possible approaches to maintain the free disk space. And
explain the advantages / disadvantages of each approach.

9. A manufacturer advertises that its color hit-map terminal can display 2* different
colors. Yet the hardware only has 1 byte for each pixel. How can this be done?

10, A computer uses DMA to read from disk. The disk has 64 51 2-byte sectors per
track. The disk rotation time is 16 msec. The bus is 16 bits wide, and bus transfers
take 500 nsec each. The average CPU instruction requircs two bus cycles. How
much is the CPU slowed down by DMA.

| 1. The mobile phone systems in Taiwan use GSM system. There is an alternative
one called CDMA. Please explain what GSM system differs from CDMA _
system. '




